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For an n by n matrix 
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we would like to find a matrix         
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The inverse A-1 to a matrix A only exists if 0det ≠A
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Finding the inverse to a matrix using algebraic complements
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matrix of algebraic 
complements
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Finding the inverse to a matrix using Jordan's method 
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using GEM 
operations

mimicking 
all the 
operations



Matrix algebra

( ) ( )TTT BABA +=+

( ) TTT ABAB =

( ) ( )BCACAB =

generalin  BAAB ≠

BAAB detdetdet =

A
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1det 1 =−

( ) ACABCBA +=+



Matrix form of a system of linear algebraic equations
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